MEQG-5 5HBiRt

M mindman

HEARTUEENEL — IRARERE) ( I RE )

4-61

mindman
L
L1 47 HRaTE
228 g6
RoEE A Ef 1 O K ;- = oy S ==
.2 D A
54
522 M12xP1.25 5 88
I ~
3 ECE &
5 © © el
134 3 S I e IS
(S
PCDg38 |.27 |
4-MAx10 %
s 955 Mx100 A 52
B #FHH N-M5x13 7% +04.4 E1i B | ¢ | 54
NAMSXTS e +od 4 LUl L .54
7 \ \
ge=m:——— o I
Y T
£ 2-05H7xT % |- C M E oA < C-C EiA
T
95.5 | 10020.02 | P 267600327
BT mm
1712 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600
L [319.5/369.5|419.5(469.5|519.5(569.5|619.5(669.5(719.5|769.5|819.5 869.5
L1 |272.5(322.5(|372.5(422.5|472.5|522.5|572.5|622.5|672.5|722.5|772.5|822.5
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75
M 1 1 2 2 3 3 | 4 | 4 5 | 5 6 | 6
N 6 6 | 8 8 | 10| 10| 12|12 |14 |14 | 16 | 16
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575
it (kg)| 2.17 | 2.36 | 2.56 | 2.76 | 2.95 | 3.15 [ 3.35 | 3.54 | 3.74 | 3.94 | 4.13 | 4.33
L
L1 47 BRI
228 g6
B3 T4 HE st
T T T T 22
.2 D FEH
4-M5x15% 43 2B ] 54
— 22 M12xP1.25 386
— . \ |
[s2] ~ F
RN 2 o~
© 34 5 . 5 & ".]%
PCD@38 |27
4-M4x10 %
176 Mx100 A _ 52
N-M5x13 ¥ +04.4 £ B | ¢
M5x13 B +04.4 Bl
- 52 F 54
B FEAH | i b X 2[% ‘ ‘
] Y rY - _
7 @5HT 7 % Y Fm
| St ‘ .
% 176 P e || i =~ C-C
‘ FEENE I SREREI 130mm (A - 26.740.03] 27
| R e |
B mm
172 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600
L 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850
L1 | 253 | 303 | 353 | 403 | 453 | 503 | 553 | 603 | 653 | 703 | 753 | 803
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75
M 0 0 1 1 2 2 3| 3| 4| 4 5 5
N 4 6 6 8 8 | 10| 10| 12| 12| 14 | 14
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575
it (kg)| 2.34 | 253 [ 273 [ 2.93 [ 312 (332 (352 [3.71 | 391|411 | 43 | 45
* R NHTI  EDEFAEIE - BUEE D ER R AI - MAEHEE PIN £l A TKEHAEBAR -



MEQG-5 5HBiRt

HEARTUEENEL — IRARERE) ( I RE )

mindman

L
m K] 47 AT
928 g6
g = I
g - ] i ” .2
gﬁ?i
55 _ 43 FE 22 M12xP1.25
PR ® {
2| b 1 :
1 34| T« <
4-M5x15 % - ]
76 Mx100 A 52
m N-M5x13 % 54
— +04.4 1 s \ \
—_— —C r Em
hd N
1 ©®© 139 ] .
— Y Y vlml %’E /ﬁ'l/ ‘ ~ C'C ELIJE
2-g5H7X7 % —C |
76 | 100£0.02 > ‘ 2674003 27
BA7 :mm
1712 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600
L 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850
L1 | 253 | 303 | 353 | 403 | 453 | 503 | 553 | 603 | 653 | 703 | 753 | 803
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75
M 1 2 2 3 3 4 4 5 5 6 6
N 6 6 8 8 |10 |10 |12 | 12| 14 | 14 | 16 | 16
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575
ikt (kg)| 2.34 | 2.53 | 2.73 [ 2.93 [ 312|332 (352|371 (391|411 | 43 | 45
_BR BN | ;o
(=R = ﬁ
%
X 47 ST | D £
L 54
43 55 38.6
i T 22 —+ M12xP1.25 W/‘
_— I— - X
EetlE————— S .. [ F
= 34 < HEHETH N
4-M5x15 % =~ I ‘ |
PCD@38 27|
76 Mx100 i A 52 AAAAOTE
) N-M5x13 ¥ +04.4 £l B ¢
B gi;(ﬁ]:ﬂ | = = 777;777‘77 = | mlﬂ_’ 54
= t— D~ =3l e
w7w =3 =S 1 ™
f 2-g5H7X7 —c ET
e N {1
i = A @/ﬁ( = C-C &l
76 100+0.02 P 26.7i0.03‘ 27
B mm
1712 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600
L 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850
L1 | 253 | 303 | 353 | 403 | 453 | 503 | 553 | 603 | 653 | 703 | 753 | 803
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75
M 1 2 2 3 3 4 4 5 5 6 6
N 6 6 8 8 |10 |10 | 12| 12| 14 | 14 | 16 | 16
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575
ik (kg)| 2.34 | 2.53 | 2.73 [ 2.93 [ 312|332 (352 | 371 [ 3.91 [ 411 | 43 | 45

M mindman

4-62

=

IO o St



	3_外觀尺寸
	4_外觀尺寸

